ER20FEE11AAEFTRE - —REXHREBER

— iR =&t B FH
EGES BR%E itL%E

—fREE

bt EREARERD 0 0

TR YIRKE 0 0

fEHE IR 80, 027 80, 027

FFEED 0 0

b 155, 4R L 4 1,900 0

BAZRE 37,073 20, 845

1Bt R ER 1,300 1, 300

A SEIRIEER 2,447 1, 800

7 T 5 B &R 36,176 32,173

2 MK K E BB 100, 800 62, 667

I8 + B R 0 0

ERARED 0 0

HEEES A 52,974 A 53,637

B4 0 0

AERER 0 0

BEEERS 0 0

HEHEES 0 0

S EEE 0 0

&5 206, 749 145,175
NHEE

AR IRIEER 0 0

B Rk EEED 342, 670 342, 670

I8+ B R 940, 000 940, 000

& 1,282, 670 1,282, 670

— i EE 1,489, 419 1,427, 845




